F o= = IH p ik (T Yk BRI
(1) 4 (1) "7 4
(f2) 4 1 (f2) T 4
(o] [ [0 ||
(9 3) 4 4
. (3) .
1 4 7 4 7
(9 4) 4
[FIFE 5 ] 4 [l
— SR AR T | AR ORBREIC 4
(5 6) 4 EDTRIAL, 1FEALDRBEA, .
- SLE, AT AEDORIC 1A T
1) &2=w,
(R 1) 4
7 o
5 2
e (2 >, 4
[ﬁ:ﬁ 2 ] 4
(D] L@ ] 5 (5 3) e
(73] =) 1 7 .
7 4
4
5 Hl 4
(f4) 4 (f4) . p .
(A1) 4 R
4
- (1) .
[ D] | @ | | ® | “ A Z
(i 2) o —
4 4 e
3 (5 2) 4 4
i 3 3
3] = (3) 7 4
Lol le]|le]|l®]]|" 6 o
(714) 4 TargftrE—s—opmnain | | 4
g 7 7 1 CHNABIROKE SHKELARY, :
S TN D BIRRR D 32T 5
B4) | FkE<lis,
¥ 2| (M1) 47T E%) <, 82525, |4 | (M3) 47T [FEX < Axb5i5,
¥ |2 | (f3) 47T [E%E) < S2525, % |5 (M3) 47T [FEX < Axbi5,
% [ 3|(M2) 47T ME%E) < S2525, % |5 (M4) 47T FEX < Axb5i5,
% | 3| (M4) 47T IEX < Hxb5xb, %6 | (1) £7T X < Hx525,




